o0
;D el jol &

a0 ol o] by o ]
a=23(-3\2+3) b:—%(%—zﬁj 5o o=(3v2+4)(-245-1)
Ry
a=23(~3v2 +\3) =63 x 42+ 23 =66 +6

b:—\/g(%—2\/5]:—%+2ng\/§:—\/§+2\/§:—\/§+2 322
——B+2x32=—-3+62
c:(3J5+4)(—2J§—1)=—6\/ﬁ—3\/5—8\/§—4

:@ el jol &
- oS ] gl Lo dnuy i pif
A=2x(-V2x+1)=xB(-2x+B) 5 B=3x(1-x)+(x—3)(2v2 + )

C= \/§X(2X—1)(\/§ + \/§X)

e
A= ZX(— \/§X+1)—X\/§(— 2x+ \/g) 3 B=3X(1—X)+(X—\/§)(2\/§+ X)
=222 12x+ 232 — 3 —3x-3X +2x 2+ £ - 26— x3
=22 + 232 +2x-3x — 3+ X +3x+2x02 — x3 26

=(-2v2+243) ¥ - x =2 +(3+242-3)x-26
C =5x(2x=1)(5 +3x)
= (2455 =5x)(v5 ++/3x
—2J5 R+ 20T -5 x=1 2
=10x° + 24155 = 5x—/15
=215 +(10-/15) % = 5x




:® el ol @
- bl Jac
A=32 —156 + 6410 ;; B=+/75+29
A:3\/§—15\/5+6\/E:3\/5—3\/§x5\/§+3\/§x2\/§:3\/§(1—5\/§+2\/§)

B:\/%+2\/§:\/52><3+2\/§2:5\/§+2\/—3:\/§(5+2\/§)

:@ gl jol &
: b b Joe
A=15abc® —5abc+25ab’c 3 B=2x(3x+1)—(3x+1)(x+3)+(3x+1)
C=(3x-2)" -3x(3x-2)+(2-3x)
SEAVL
A=15a’bc’® —5abc+25ab’c = 5abc(3a02 —1+5b)
B:2X(3X+1)—(3X+1)(X+3)+(3X+1)
=(3x+1)| 2x—(x+3)+1
(3X+1)(2X X— 3+1)
=(3x+1)(x-2)
C=(3x-2)" -5x(3x-2)+(2-3x)
:(3X—2)(3X 2) 5X(3X 2) (3X 2)
=(3x-2)[(3x-2)-5x-1
:(3X—2)(3X—2—5X—1)
:(3X—2)(—2X—3)

iaa oS 3 b Lo by i pif— (1
a=(2J§+3)2 . bz(ﬁ—zﬁ)z . c:(2\/§—7)<2\/§+7)
(3X+\/_) 3 f=(3X\/§+1)(3X\/§—1)

. L lo Joae—(2

g=V0-v2" ;i  h=a121-7 ; i=5-\4
j=252+30x+9 5 k=162-11 3 I1=4xX —4x/3+3

Q.

[l
—
N
o)
i
[E—
N —

[\)
I|




NN
a:(2\/§+3)2:(2\/5)2+2><2\/5><3+32:8+12\/§+9:17+12\/§

(\B—zﬁ)z =\/§2—2x\5x2J§+(2J§)z —3-415+20=23-4/15
(2@-7)(2\/§+7):(2\/§)2—72 ~12-49=-37
c= (2ﬁx—1)2 :(2J§x)2 —2x2\B3xx1+12 =12x% —4BBx+1
d=(3x+V2) =337 2x3xx2 + 42" =9 6:/2x+ 2
e=(3X\/§+l)(3X\/§—l):(3X\/§)2 —12=45% -1

b

c

: oLl Jasid- (2
g=V9 V2" =3 V7' = (VB ++2)(\3-2)
h= 4121 =7 = (211} —V7" = (24T 7 ) (211 447
i=5—E=5" 2" =(5+42)(~5 -2

j=25x +30x+9=(5x)" +2x5xx3+32 =(5x+3)

k=16 ~11=(4x)" ~JIT =(4x—IT)(4x+11)
1=4x —4XJ§+3=(2X)2—2X2XXJ§+J§2 =(2x—J§)2




